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AIEB Ypk23F6H810H (&) RAXRX BN UM 27 C
1 RE (& B uSv/h (F120Y—N)L ~B6)
5% MFRMO | #ER50cem | #FR1m Wiz | BT
1 | B—1REBA 0.11 0.10 0.08 0.09 12 : 02
2 | BTIREP 0.09 0.07 0.04 0.06 10 : 00
3 | B=RBM 0.09 0.06 0.04 0.08 11 : 33
4 | ROE=FRBE 0.09 0.06 0.03 0.09 10 : 28
5 | HIFRER 0.09 0.06 0.06 0.09 11 : 00
2 IZWER By Sv/h (N120Y—R)LEE)
s RO &5 Ocm R m AIEFZ
1 | =ZBNER 0.1 0.12 0.1 14 : 24
2 | BARINER 0.1 0.11 0.11 14 : 49
3 SINFER 0.1 0.09 0.08 13 : 48
4 | BRINER 0.12 0.11 0.12 15 : 55
5 | MTREAIRINER 0.15 0.10 0.09 15 :13
3 PER BT uSv/h (14 20Y—R)L ~E8)
5% RO &5 Ocm R m AIERFZ
1 | =ZBEPER 0.09 0.09 0.08 14 : 07
2 | ZERPER 0.14 0.13 0.13 15 : 41
3 | BRARPER 0.13 0.12 0.12 15 : 30
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1 ®&m (&) BT uSv/h (W1 20Y—=R)L 36
ftBEs MWRME | #HWFR50cm | HR1m Wiz | RIEER
1 | B—IRBM 0.10 0.11 0.13 0.08 11: 05
2 | BZTIRBPA 0.12 0.10 0.11 0.12 10 : 28
3 | B=IRBM 0.08 0.05 0.09 0.07 11 : 48
4 | ROE=SIREERE 0.08 0.08 0.07 0.08 10 : 48
5 | b FREE 0.12 0.08 0.06 0.13 11 : 28
2 INER B uSv/h (F120Y—R)L B
i R Z 5 Ocm R m B RE b5
1 | =ZBNER 0.12 0.12 0.10 10 : 20
2 | BRARINER 0.14 0.13 0.11 11: 14
3 SINFR 0.16 0.15 0.15 10 : 00
4 | BRINER 0.10 0.10 0.10 13: 25
5 | TEIRINER 0.14 0.10 0.08 11 : 41
3 PER BT 4 Sv/h (W1 20Y—A)L ~BE)
i HRMAE | #HFRS5O0cm R m BIRERFZ
1 | =ZBPER 0.12 0.12 0.12 10 : 13
2 | =HRPER 0.09 0.11 0.07 13 : 35
3 | BRAARDPER 0.15 0.14 0.12 13 :12




AEE 237818 (& S&2/XK% BN SR 30 T
1 ®&m (&) BT uSv/h (W1 20Y—=R)L 36
ftBEs MWRME | #HWFR50cm | HR1m Wiz | RIEER
1 | B—IXBm 0.14 0.13 0.12 0.14 11: 05
2 | BZTIRBPA 0.09 0.09 0.09 0.09 10 : 42
3 | B=IRBM 0.10 0.10 0.10 0.10 11 : 39
4 | ROE=SIREERE 0.11 0.11 0.11 0.10 10 : 54
5 | b FREE 0.11 0.11 0.11 0.11 11 : 26
2 INER B uSv/h (F120Y—R)L B
s HRMAE | #HFERS5O0cm R m JAIREESZI
1 | =ZBNER 0.07 0.07 0.07 10 : 14
2 | BRARINER 0.12 0.12 0.12 11: 14
3 SINFR 0.10 0.10 0.10 09 : 50
4 | BRINER 0.11 0.11 0.11 14 : 20
5 | TEIRINER 0.10 0.11 0.11 13 : 54
3 PER BT 4 Sv/h (W1 O0Y—A)L ~EE)
i HRMAE | #HFRS5O0cm R m BIRERFZ
1 | =ZBPER 0.12 0.12 0.12 10 : 06
2 | =HRPER 0.09 0.10 0.10 14 : 28
3 | BRAARDPER 0.12 0.09 0.11 14 : 08
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BN

1 ®&m (&) BT uSv/h (W1 20Y—=R)L 36
ifiE MWRME | #HWFR50cm | HR1m Wiz | RIEER
1 | B—IRBM 0.12 0.12 0.12 0.12 10 : 15
2 | BZTIRBPA 0.12 0.12 0.12 0.12 09 : 52
3 | B=IRBM 0.12 0.11 0.11 0.10 10 : 59
4 | ROE=SIREERE 0.08 0.10 0.07 0.10 10 : 05
5 | b FREE 0.11 0.10 0.08 0.11 10 : 36
2 INER B uSv/h (F120Y—R)L B
s RO &5 Ocm R m JAIREESZI
1 | =ZBNER 0.08 0.08 0.08 9: 42
2 | BRARINER 0.12 0.11 0.08 10 : 24
3 SINFR 0.06 0.05 0.05 9:24
4 | BRINER 0.09 0.09 0.09 13 : 36
5 | TEIRINER 0.10 0.10 0.10 11 : 17
3 PER BT 4 Sv/h (W1 O0Y—A)L ~EE)
i MR #hZ5 Ocm HER1m BIRERFZ
1 | =EBPER 0.11 0.07 0.07 9:30
2 | =HRPER 0.11 0.11 0.10 13 : 53
3 | BRAARDPER 0.11 0.08 0.08 13 : 46
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1 ®&m (&) BT uSv/h (W1 20Y—=R)L 36
ftBEs MWRME | #HWFR50cm | HR1m Wiz | RIEER
1 | B—IRBM 0.13 0.10 0.10 0.11 10 : 15
2 | BZTIRBPA 0.10 0.10 0.10 0.10 09 : 52
3 | B=IRBM 0.10 0.09 0.10 0.10 11: 15
4 | ROE=SIREERE 0.09 0.09 0.09 0.09 10 : 10
5 | b FREE 0.12 0.11 0.11 0.10 10 : 48
2 INER B uSv/h (F120Y—R)L B
s HRMAE | #HFERS5O0cm R m JAIREESZI
1 | =ZBNER 0.10 0.10 0.11 9:49
2 | BRARINER 0.10 0.09 0.07 10 : 35
3 SINFR 0.14 0.11 0.11 9:24
4 | BRINER 0.08 0.07 0.07 13 : 31
5 | TEIRINER 0.11 0.11 0.10 11 : 04
3 PER BT 4 Sv/h (W1 O0Y—A)L ~EE)
i HRMAE | #HFRS5O0cm R m BIRERFZ
1 | =ZBPER 0.14 0.14 0.13 9:39
2 | =HRPER 0.11 0.10 0.10 13 : 44
3 | BRAARDPER 0.10 0.10 0.10 13 :23




